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Attempt any five questions.
All questions carry equal marks.
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1. Distinguish between a Mitakshara and a Dayabhaga
coparcenary. In what manner has the legislature

modified the concept of Mitakshara coparcenary
through several enactments?
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2. Distinguish between the separate and coparcenary

property under Hindu law.

A. a Hindu man inherited a house from his father in
1980. He had a son S, two daughters D; and D, and a
wife W. S was marricd to SW and had two sons, 5§
and SS,. A died intestate in 2002. Upon his death. S, Dy
and D, executed a deed each relinquishing their
respective shares in the house in favour of their mother
W. W now procceded to sell the house 10 X. The
estranged wife of S, SW who was living at her parents
place with both sons SS; and SS; now files a suit
challenging the capacity of W to do so, and demandes a
partition of the house on the ground that since A had
inherited it from his father, the same is, joint family
property and both of his sons had a right by birth in it.
Consequently, S alone is neither competent to execute
a relinquishment of the same, nor is W competent to

sell it as she 15 not the sole owner of it. Discuss.
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3. Discuss who can demand a partition of the joint family

property and what are the modalities of the same?

A Hindu joint family comprised of Dharam, his two
major sons Varun, and Tarun, and an unmarried
daughter Megha. In January, 2000, Varun demanded
partition of the joint family property from his father and
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demarcation of his one third share in the property. The
father did not yield to his demand and consequently,
Varun consulted a lawyer, drafted the petition for
demanding a partition and instructed him to go and file
the same in a court of law. The lawyer who was a friend
of Dharam instantly informed him about the petition.
Dharam immediately sold the entire joint family
property including the share of Varun and used the
money for marrying Megha. The suit claiming partition
was filed one day after the sale of the property and the
marriage of Megha was performed a month later. Varun
now challenges the validity of the sale on the ground
that since he had asked for partition, his status was
determined at that very instance and notwithstanding
the fact that there was no physical division of the

property, his share could not have been soid by the
Karta/father. Decide,
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4. A, dies in 2007 as an undivided member of Mitakshara
coparcenary and is survived by his parents, F and M, a
step mother FW, a widow W, two sons, S1, S;, and a
daughter D. F had married FW and M one after the
other in 1950 and 1952 respectively. S; married W, in
1995 and had one son and a daughter, i.e., SS; and SD,.
S, had married a Christian woman under the Special
Marriage Act, 1954, and had a son SS;. The property
consists of Rs. Ten crores. Discuss who will get the
property and what would be their shares?

3452 5 [P.T.O.



A i frqren geerfieht & aifasws oo & w0 # 2007 7
ey 2 7 37 amy 3R o wrar- e Faen M, T gided)
T FW, T [99a1 W, 1 g3 S, S, 3w G D it 21
F 31950 3% 1952 § U&% & =1¢ U HAN: FW a1 M &
foramg 1 1995 7 5,3 W, B foarg T 3o 30w
T3 a9 & T 19t S8, 2f D, ¥ gul 8,3 fsi famme
AfuFEm 1954 % srria w $or$ Afeen @ e fen
e 38 97 SS, ¥ gent wwly 10 Wi W A R
faa=m Fifse for Tty e fienfl it sas e -
FTEM ¢

5. (i)

3452

X, a Hindu male, dies intestate in 2011 and leaves
behind property worth Rs 50 crores. He is
survived by his parents F and M, a brother Br,
widow W, two sons, Sy and S; and a daughter D,
His daughter ID eloped with H,, a married man
with whom she had an affair and gave birth 10 a
son DS from him. She died in mysterious
circumstances three months later and S, and S,
were booked for her murder. They took the
defence that D's conduct had brought shame on the
family and by killing her they have restored the
honour of the family. With no one to look after
DS, he was brought by X to his house and was
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being raised by him. Discuss who would get his
property, specifying the quantum, stating the
reasons for the same.

H and W both Hindus, brought their marriage to
an end by a decree of divorce in 1989. W sought
and obtained the custody of their two year old son
S, and migrated to Australia. After spending nine
vyears of lonely life, H married 39 years old Asha,
a Hindu female, who was a consultant with a
leading MNC in Delhi and was getting a very
good pay package. She was an only child of her
parents. Her father, a school teacher by profession
had spent his entire savings on her education.
Asha now was looking after both of her parents,
who were ill, housing them in her residence that
she bought with her savings and providing them
appropriate medical treatment. Asha and her
husband H died in a car accident in 2011. The
value of her property that included the house
stands at 20 Crores. Discuss who would inherit her
property stating reasons for the same?
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6. Discuss the essentials of a valid gift and a gift made
during marz-ul-maut under Muslim law.

Anees, a Muslim man inherited a house from his father
and started living in it with a friend Mustafa, who was
working with him in an MNC in NOIDA. Anees was
relocated to Canada, by his organization, and decided to
migrate there. In the farewell that was organized for
him he declared before his friends that he was gifting
his flat to Mustafa, who accepted the same. Giving
instructions to a lawyer for mutation of the flat, Anees
boarded the flight to Canada but died in the air crash.
His brother sues for possession of the flat on the ground

that the gift was not completed as per the provisions of
Muslim law. Discuss.
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7. Discuss the rules relating to abatement of legacies:

(i) A executes a Will giving Rs 90,000 to his friend F,
60,000 to a school S and 60,000 to a Hindu temple
H. His total property on the date of his death is Rs
1,80,000 only. Discuss who would get the property
and what would be their shares under Sunni and
Shia laws?

i) A executes a Will of his property giving one third
of it to X, one third to Y, and one third to Z. He
died 'Ieaviﬁg behind property worth 15 crores.
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Discuss who would get the property and what

would be their shares under Sunni and Shia laws?
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A, a Sunni male died leaving behind his parents F
and M, three widows, W,, W,, and W3; five sons
S1, Sa, 83, S4, S5 and two daughters D, and D,. He
leaves behind property worth Rs 80 crores.
Discuss who would get the property and what
would be their shares?
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(i1) A, a Sunni female died leaving behind her parents

(1)
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F and M, her deceased husband’s sister Si, and a
step son S, (her deceased husband’s son from
another marriage). F, M, Si and S were living with
her ull her death and were being maintained by
her. She leaves behind property worth Rs ]0
crores. Discuss who would get the property and
what would be their shares?
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